11 A,

EAREBBAERRE
3 (10:50~ 1 1:45) 8

15 (NBE) BALSESRT = 1 0: 20~

B0 KL (XE2) B0% KB (XE2) B0% KD (X#P2)
EH BA (Rugksn) | | AR K (EH) KH (58)
Bl wmE (Fub) S N (BEREM) | |ZKE Kfa (FE#%dk)
A8 6 (EW) BT &K (REHR) &t FK (KB E7ET)
Wl 8§t (BR) g —E (%) 7wl Gtk (27E)
=W RE (MBER) | |FEE K (35h) T\ AX (REF)
A7K BEIK (CKEFA) 1£18 B (FAER) TIE [k (REF)
A hE (2E) IRE i () FH FE ()
KR H1& (RE.H) EH KX (RR®) SRR B (EAL8E)
[ EHE (&) SRE B (E) BEE FBR (% REM)
B 75 (R3&AR) Z - Ed G220 Z Nz N (RBET)
B Rt (R3EAB) WA KK G220 e BEQ ()

1B R RAK (2 P) $e A ATl (&) =GN (HP 1 R)
ok Bi st (MBEA) | R RN (27E) M X (RLEB=)
hofl FE (#aF) BR B (%o 1L #) KEF RE (1RR3b)
sl Hh1E (£8) B B (EPHR) | @ ZF (Eu)
A BAE |((EPdR) | (B EH (B7 &) L AE (s 4m)
WA (Rugx#) | B i (B7 i) 1TH RA (BA%n)
JIF# 7T (%) B M (B7 &) 178 B3 ()
BEA EX (ZBEE) | |ER ER/R |((AEmR) | |SE EX (EuW)

XA+ FIE




